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Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as(those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 55/0S/2-A on the Answer-Book.

(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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MATHEMATICS
(211)
Time : 2% Hours | [ Maximum Marks : 85
g 2lewe ] [ quiiek : 85

Note : (1)
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Question Numbers (1-10) are Multiple Choice Questions. Each question carries
one mark. For each question, four alternative choices (A), (B), (C) and (D) are
provided, of which only one is correct. You have to select the correct alternative
and indicate it in the answer-book provided to you by writing (A), (B), (C) or (D)
as the case may be. Q.No. 11 to 15 also carry one mark each.

Question Numbers (16-25) carry 2 marks each.
Question Numbers (26-33) carry 4 marks each.
Question Numbers (34-36) carry 6 marks each.

All questions are compulsory.

¥ HEAT (1-10) T sgforhedl 9% (Multiple Choice Questions) R ER ] Teh
31 1 § | ¥ 799 § AR fasey (A), (B), (C) @@ (D) fed w3 €, 598 & %o wh
T2 T | MU T forehod 1 © A1 TSk U9 o IR T I YRh # (A), (B), (C)
31er@n (D) St oft fRearfa 21, foraes <o 81 w9 S@ 11 9 15 off T 3 & T

U GE&AT (16-25) TF FIh Y9 & 2 3k T |
I TE&AT (26-33) Th FAH YA o 4 3k T |
I HEAT (34-36) TH TAF U9 o 6 3F € |

[t g9 Ifear § 1

@
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1.  Value of 876.24+729.49-211.11 is : 1
876.24+729.49—211.11 %1 AH ¥ :

(A) 1389.62 (B) 1294.104 (C) 1394.62 (D) 1191.104

2. Valueof 77! + [(=7)?] Lis: 1

77l 4 (=7 = HE B

(A) 7 (B)

1
3.  Equation 25x% — 2xy + gyz = (5x + ky)® is true when k is : 1

1
TR 2507 — 2xy + gyz = (5x + ky)* T B, Sk HI AR & ¢

1 1
(A) 3

4. 8% of a liquid in a vessel of capacity 425 litres is lost due to some leakage and 1
evaporation. Then quantity of liquid left in the vessel is :

(Presume that vessel was completely filled with liquid)

Teh o 425 fofed et U9 @ I 8 9 e A1 3HH § 8% X foshst & Ao o
SHROT A B AT Wi H e I51ed T I

425 X 8 425 X 8
425 — l
100 l (B) ( 100 j
425 X 8 100
425 + l
© ( 100 j (D) 425 x 8
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5.  In the following quadrilateral value of “x” is : 1

=g § v A ®

«~— 35cm @.H.) —

C
5x°
(7x = 30)°
B
«~—35cm @H.) —
(A) 75 B) 15 ©) 105 (D) 60
OR / 31eran

(For Visually Impaired Learners only)

(ehae gite fasrerin faenfet & fam)

In a parallelogram ABCD, ZA is (7x—30)° and £C is 5x°. Then value of x will be :
(A) 75° (B) 15°
(©) 105° (D). "None of the above

T FARR 9G4St ABCD H ZA &l A9 (7x—30)° 1 £C 1 HIY 5x° T @l x 1 HE AT

(A) 75° (B) 15°
(C) 105° (D) T 9§ & Tl

6. A quadrilateral whose all sides are equal and both diagonals are equal is a : 1
(A) Square (B) Trapezium (C) Rhombus (D) Rectangle

T Igys gkt 9Ri e 99E € aen SHi gt s § g9 € Fean €
(A) (B) wHems WgHS  (C) THEHS (D) A

a1
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7.  Two points A, B have co-ordinates (2, 3) and (4, x) respectively. If AB?=13, the possible 1
value of x is :

T fargsti A 3Tk B % feuriar shwet: (2, 3) @M (4, x) 1 AT AB2=13 A Ax H HYI AF ¥ :
(A) -6 (B) 0 ) 9 (D) 12

8.  Height of a cylinder is same as the diameter of its base. If its base radius is 7 cm then 1
volume of the cylinder will be :

T I SIS, IHh SR o I o el ¢ | Ife SR st 552 7 941, 81 a1 Sie ol A=

BT :
(A) 2156 cm? (B) 1078 cm? (C) 686 cm? (D) 343 cm?
9.  (sinA+cosA)? —2sinA-cosA is equal to : 1
(SinA +cosA)? —2sinA-cosA R T :
(A) 0 (B) 2
o 1 (D) sin?A —cos?A
10. The value of (1-cosec?A) tan?A is : 1
(1—cosec?A) tan?A <kl A 7
(a) -1 (B) 0 © 1 (D) 2
11. Factorise : x*— 5x + % 1
. 2 25
'ﬁﬂ'ﬁ'@gaﬁ'i%ﬂﬂ T X —5x+z.
12. Find x: 1

x T HM J1d i

65 +Jx =83
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16.

17.

18.

19.
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Evaluate :

M J1d T

(="

[y

Harish saves ¥ 900 out of a total monthly salary of I 14400. Find percentage of his
saving.
B9 79 ¥ 14400 o ARG oq | © X 900 STl €| Skl seid Ficwid A <hiTog |
Write two conditions which are sufficient to ensure that quadrilateral is a rectangle.
=qds & < ure fefee St giafvea w¢ fw agds t oma 7
A man bought oranges at 25 for ¥ 100 and sold them at 20 for ¥ 100. Find his gain or
loss percent.
Tk AT 3 % 100 % 25 % He Gl TS 3R 3% 100 % 20 % Wel § 9= o 35t A
RIKERIENCEIRET s
BA and DC are two chords of a circle, which when extended meet at a point P outside
the circle. If PA=4 cm, PB=10 cm and PC=5 cm then find the length of CD.
9 HI T SE BA 3R DC 5legH R 963 X fog P R Fredt €1 Al PA=4 9.1,
PB=10 ®.#l. 3R PC=5 ®.#l. ¥ CD %I H19 1 hifory |
The altitudes AD and PS of two similar triangles ABC and PQR are 12 cm and 18 cm.
Find the ratio of the areas of two triangles.
T THEY IS ABC 9l PQR & ¥ <% AD q9 PS &t oiwaligal 12 WA, dor 18 T4t T
AABC @1 APQR & &F%all &1 ST A1d hiftad |
If P is a point equidistant from two lines I and m intersecting at point A show that line
AP bisects the angle between them.
Ffg farg P, Wom forg A W 1 areft W@nsti [ 3R m & 9uewey 1 @ fag wifse fow @ AP
@l | SR m % &= 9 R0 H GH G |
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20. Find the area of a triangle whose sides are 8 cm, 11 cm and 13 cm. 2

e T39St 1 &hat J1d 1 fSreeht e 8 9., 11 4., qen 13 4., )

21. Find the surface area and volume of a sphere of radius 7 cm. 2

7 Q.H, B a1et el 1 I e 9 STEAH J1d i |

22. Show that : 2

fe@my -

tan48° tan23° tan42° tan67°=1

23. Given tanA = % find sinA and cosA. 2

T tanA = % Bl a1 sinA TT cosA T HM JTd HITST |

24. One card is drawn from a well shuffled deck of 52 cards. Calculate probability that the 2
card will be an ace.

Tt TRE Thel TTE T S 52 T BT Tk TeEt § Y U T FeRTe S ¥ | Wifeehat i Hifen
T =& U<l gepT BN |

25. Find ‘Mode’ of following data : 2
freferfEd stishel 1 dgetesh J1d i
2,2,4,2,1,1,1,2,1,1,3,3,1, 3, 0.

26. The hypotenuse of a right triangle is 13 cm.. If the difference of remaining two sides is 4
7 cm, find the remaining two sides.

T e e e 13 A 71 A & spmedl # 7 AL 1 R A, @ I I opemd
T hifSTT |

27. The sum of the first three terms of an AP is 36 and their product is 1620. Find the AP. 4

Tk IR JE o YH 3Tl T ANT 36 AT ST UAHA 1620 T | AR It TN HifeQ |

1
28. Find the difference between simple interest and compound interest for 15 years at 4% 4

per annum, for a sum of I 24,000 when interest is compounded semi annually.

1 . -~ ..
T 24,000 ST T W 4% oMk X 4 15 Y H WUR AN a1 Ihghg oS H SR A1
HIFST, STaf for =7t 9fq SHE Gaferd B &
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29. In the following figure, C; and C, are two circles with centre O; and O, intersect each 4
other at points A and B. If O; O, intersect AB at M then show that :

(a) AO,AO, = AO,BO,

(b) M is the midpoint of AB

(c) ABLO,0,

T 3TRfd H C, 3R C, T 1 & 57k g O, TAM O, T | I Teh GaL I forgail A TN B W
e €1 a0, O, AB I M W e &, @ I

(a) AO,AO, = AO,BO,

(b) ABHFTATITMT

(c) ABLO,0,

OR / 3gdr
(Only for Visually Impaired Learners)
(ehae gite fasrei faenfet & faa)

At the centre O of a circle minor are ‘ABC is making an angle of measure 120°. Find
the measure of ZABC.

T 99 % g O T g 919 ABC 120° 19 &1 0 o1 W &1 LABC 1 W19 4 HITT |

30. Construct a triangle of sides 4 cm, 5 cm and 7 cm and then a triangle similar to it whose 4

3
sides are 1 of the corresponding sides of the first triangle.

49, 5 Q. qen 7 9. oSnel o1 IS SR $Hh §HEY Th A IS & @A
FifTe, SRt T geet Fest st wrd sTed %%h

OR / 3teran
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(Only for Visually Impaired Learners)
(ehae gfte faeretin faentei=i o fau)
Write only the steps of construction for constructing a triangle of sides 4 cm, 5 cm and

3
7 cm and then a triangle similar to it whose sides are 1 of the corresponding sides of

the first triangle.

~

|

TIAT Bq hadl AT o =0 ford

l--l
4 9.4, 5 QAL q 7 A, et H S TR THh FEEY Th T S & @

(aWal

~ o o . , 3
RIS, freent ST 9get T3S sl S77a osedi 1 =l

31. The upper part of a tree is broken by the strong wind. The top of the tree makes an 4
angle of 30° with the horizontal ground. The distance between the base of the tree and
the point where it touches the ground is 10 m. Find the total height of the tree.

SATelt g, < AT H 22 g U R U0 9T fH % G 30° 1 R0 A S| U H S BR,
518 Se W 4fit 1 FaT1 € 98 e U F UK F 10 . B g W IS H FA S9E 9@
RIS |

32. Draw a histogram of the daily pocket expenses of 125 students of a school given 4
below :

= fau T, T Wha & 125 fornfeE) SS9 @9 & Sidhel # AEatad Sy

Daily pocket expenses in (T) | Number of students
R ST (T H) ferenfefei =t e
10 -20 20
20 -30 30
30 - 40 25
40 - 50 35
50 - 60 15
OR / 3teran
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(Only for Visually Impaired Learners)
(ehae gite fasein faenfet & fam)
The weight (in kilograms) of 40 persons were as under :

40 =Rl & wR (fean ) = feu ® -

Weight Number of persons
1N At sht W&
40 - 45 4
45 - 50 5
50 - 55 10
55 - 60 7
60 - 65 6
65 -70 8

Determine the class marks of the classes 40 - 45, 45 - 50 etc.
T 40 - 45, 45 - 50 M &% a7 Fo=g J1d i |

Construct cumulative frequency table.

Tl SRERAT SST9RUN bl LT ShiTSTg |

33. The mean of the following distribution is 35. Find the values of x; and x,, if the sum of 4
the frequencies is 25.
9 de &1 A 35§ 1 Af IRARATSH A1 AR 25 B Y, x, A& x, F TE M HIC
Classes
0-10 [ 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
Euj
Frequencies
. . 1 Xq 5 7 X5 3 1
AR
34. Three years ago Sunil’s age was four times his sister Shruti’s age. After 5 years from 6
now, Sunil’s age will be two times Shruti’s age. Find their present age. Find the present
age of their father also who was 25 years old when Sunil was born.
T o Tgel AT i T 9T a8 i &1 TG W 4T off | 3T § 5 9 a8, A &l 71
gfd T ¥ T BN | IR IdHM 3T A I | Ik farst ol odae 3y ot 9
SHITSTT ST GHAtel o S0 & THI 25 96 & 9 |
55/0S/2-211-A] 11 IRARERANIRERTRATVIDN © conta.
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35. Find the area of a rhombus if its vertices are A(3, 0), B(4, 5), C(-1, 4) and D(-2, -1). 6
Also find the distance between its sides AB and CD.

T FHIGYS H1 & F o I A(3, 0), B, 5), C(—1, 4) &1 D(-2, 1) ¥
THHT STl AB 3R CD & & &1 gl oft 91d sifse |

36. A solid toy in the form of a hemisphere surmounted by a right circular cone. The 6
height of the cone is 2 cm and the diameter of the base is 4 cm. Determine the volume

22
of the toy. Also find the surface area of the toy. | Take w = 2

T 3 facti=n 19 & STSTIHR F HR H1 & T 3HF SHW TH T i IF a1 IF
I SarE 2 . ¥ 3R SR 1 A 4 AL ¥ 1 Faedie 1 A 9 IS % F1d i |

+-29)

-00o0-
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